
Exam retake review

1
.

9=8.7 b=} d- 12

hrs
= > amrdlitude :/at = 8.7 Jay
=> minimum # of days; 12 - 18.71=3,3 days
=> Period : 2¥ => 3¥ = 36g days

Is

2.

Period : D= = > zit = % = > b. = I

D. 5 : § :O [No Phase Shift

U : must be 1 Or
- I
,
t 9015 down 50 - I

V. b : moved down
2
,
So -2

i. y= - sink- 2

3. i. The wheel turns at 'm%%
,

which = 24 rad

w= 2*1%9.4=6,283 min

ii. vi. rw = > ✓ = 35ft (
2K) = 70141,4=219.9 " min



Exam 2

4. sin
+×) - since - ×) : sine

= > sinsxtcosEgsinx-f.si#sosx-cos&sinx] sum t difference

= > 2<05 Eg Sinx Evaluate

= > z.dz Sine = Sink

5,105-160534 - Sin ✗5in } -1=-1

⇒ 105×60534 - sinxsinzy-cos.ci/t3x) sum t difference

i. [054 ✗ = - I

i. 4x= IT +21T K, K EZ

✗= + EK, KE 2,50 on [0,21+7
.

3¥
, ˢ 1¥

6.
Zcotx- csiy
It lot

= (052 ✗

= > zcotx- Csi" pythagorean
c. six

⇒Y%-:::÷
= >Y% - I

← quotient rule
"ᵗ§ reciprocal

ident'""

=> 21052k-1 Algebra

= > COSZX Double - angle



Exam 3 :

>
,

,

2t= # cost!¥) t2¥£=# cos ,(s)
P([-3--4254-122365%-7] E- ¥+4T- Cosi:÷D tt=z¥(ittcosG¥D4800=4254-1223105C t)

1- = -882i. t --3.38ie+u=¥cos#e) = -%÷
[Oslo) : - %¥3
u = cos

_'

(_ 546⇒
Since this # is negative

,
the 2 answers must be in Qz t Q

}

8
Finding Ci. Since) Finding G :

7=5%-339
a. = ? A- = ?

1800-40.130=139.820

B- 33°
b-_ 60 Since] : >i5;gf33

[ = ?
c--71 c-- sin"["ˢ;%"ˢ]

[ = 40.13°

Solving for A & &
.
2=40,10

,
1- =/06.999=105.4

= > using Cz
= > Using 4

.
.

or

180-(139.87+300)=1-2
[ =/ 39,9°

,

1- = >. /
°

,

a =/3. >

180%(40.1301-300)=4
Az= ? / 3°

A.'-106.8>
°

a-
=

#

sina.li) sinless)

s÷iooy=si÷g
Uzi 605in[

713°)

a:-b;?;%; sins

62--13.6>
g- 105.42
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a
2
= b
2
+ i- z a L Co s (A)

a.. .
!

± a >
2
+1 162-2 C9>) ( I16) CO S[2a)

,

_
-

I 1 6
a
2
= 3 1 82

.
5 6

a = 5 6
.

4 I

97 29
°

,


